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N.RN.B.3: Operations with Radicals 3

1 What is the sum of 3X«/7 and 2X «/7 ? 6 What is the sum of «/% and «/5 ?
1) 5xa/7 ) /82
2) A7 2) 2020
3) sx~/14 3) 92
4 214 4 2
2 The expression «/2_7 + «/E is equivalent to 7 The expression «/2—8 + «/5 is equivalent to
1) 543 1) ~fo1
2) 1343 2) 5+l7
3) 546 3) 67
4) J39 4) 137
3 The sum of «/% and «/E is 8 What is the sum of «/% and «/g ?
) s
4 «/% 3) 92
4 2942
4 The sum of Jl_g and ﬁ s 9 Whatis «/ﬁ + «/Z expressed in simplest radical
D “@ form?
2) 9'\/5 1 7,\/6
3) 3'\/1—0 2) 7,\/3
4) 63 3) W87
4 174
5 The sum of x/2—7 and x/r.ii is
1) “/E 10 What is 3«/5 + «/g expressed in simplest radical
2) 93 form?
3) 343 1) 3410
4 427 2) 3416
3) 542

4 72
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11 The expression 6«/% + 6«/5 written in simplest 17 The expression 2'\/5 - «/E is equivalent to
radical form is ) 2 «/4—8
1) 652 2) 10
2) 12452 3) 942
3) 1742 4) 4942
4 362
18 The expression «/E - 3«/5 written in simplest
12 What is the sum of 5~/7 and 3~/282 radical form is
1) 97 1) 542
2) 1147 2) 346
3) 607 3) 32
4) 835 NG
13 The sum of 2+/54 and 2+/6 is 19 Simplify: a8 + 75 - 27
1) 4+/60
2) 815
3) 7«/% 20 Express M in simplest radical form.
4) 8~/6 3
14 Simplify: «/E + x/E 21 Express '\/E —Z«E + '\/E +2«/§ in simplest

radical form.

15 Simplify: /45 + /20

22 Express in simplest form: /48 —5/27 +2/ 75

16 The expression /28 — «/7 is equivalent to

1) A7 23 Express%f\/48—(2«/ 12 — A[27) in simplest
2) 2 radical form.

3) 37

4) 4



N.RN.B.3: Operations with Radicals 3
Answer Section

1 ANS: 1 REF: fall2301ai
2 ANS: 1

2712 =03 e a3 =33 42.2 =503

REF: 069920a
3 ANS: 3

15 +43= 3253 +43 =53+ .3=6.3

REF: 010311a
4 ANS: 2

18 +4f72 = 942 + 362 = 3.2 + 62 = 942

REF: 060316a
5 ANS: 2

2T+ 108 =034 363 =33+ 643 =93

REF: 010912a
6 ANS: 3

ﬁ+ﬁ=d§ﬁ+wﬁﬁ=5ﬁ+4ﬁ:9m@

REF: 080614a
7 ANS: 2

W28 +4f63 = AT + BT = 24T+ 3T = 547

REF: 060724a
8 ANS: 2

ﬁ+«f§=ﬁﬁ+xﬁrﬁ=5ﬁ+ﬁ=?ﬁ

REF: 080712a
9 ANS: 1

150 + 24 = 256 + ~J4[6 = 5:[6 +2-/6 = 7A[6

REF: 011517ia
10 ANS: 3

32+ 8 =32 +AJa[2 =32 4242 =542

REF: 011121ia
11 ANS: 4

6~/50 +6+/2 = 6:/25 /2 +6-/2 =30-/2 + 6-/2 = 362

REF: 011024ia
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ANS: 2

Sof7 + 3828 = 547 + 3aT = 5T+ 64T = 1147

REF: 080524a
ANS: 4

254 +2:/6 = 2/9 /6 + 216 = 6:/6 +2-/6 = 8:/6

REF: 082415ai
ANS:

7.3

REF: 089811al
ANS:

545

REF: 039413al
ANS: 1

V28 - f7 =B~ = 2T T =

REF: 010826a
ANS: 3

250 -2 = 2252 -2 =102 -2 = 9.2

REF: 080016a
ANS: 3

N2 =3x[2 = A[36 /2 —34/2 = 6a[2 —34/2 = 34/2

REF: 061008ia

ANS:

63

REF: 09991 1al

ANS:

of3 315221 3253 4043 154343413 18
3 3 -3 T

REF: 061236ia
ANS

5 23+ o3 +23) =523 433 16=11+ 3

REF: 061336ia
ANS:

NE)

REF: 010212siii

;/E=6«/§

ID:



23 ANS:

3

REF: 080107siii

ID:



